04372_B B L ITELNEBH K EER

7= miiEA

M
WRN , RIFRLE,

I
ZeEAE,
HMAEHIE,

BR:
ERENRZXE (H5) NEREENRZFHMTEHRE,

Ly =N
ZEBNARIT , MEATRENZEE
ERMEMR ST

B4

K ERMRZER 04375,
K BRI 04379,
& 04378,

R ZIRR
04372

R ER
x5
04375

]
04378

KESETRERE
‘%ﬁ%ﬂ&i‘i%‘éiﬁﬂ R

-
To

© norelem www.norelem.com



04372 B B B2 {TEAE % BER

H3
)
=
—~
)

H5

04372-208020 B [18 22| 58 37 |23 | 2 7 10 10 | 20 M8x50 37,2 13,6
04372-208025 B [18 22| 58 37 |23 | 2 7 10 10 | 25 M8x50 32,3 10,9
04372-208030 B |18 22| 58 37 |23 | 2 7 10 10| 30 M8x50 29,4 9

04372-212040 B [25 32| 92 66 |39 | 11| 12 15 18 | 40 M12x80 58,8 17,5
04372-212050 B |26 32| 92 68|39 | 11|12 15 18| 50 M12x80 49 14
04372-212060 B [25 32| 92 68|39 | 11| 12 15 18 | 60 M12x80 45,1 11,6
04372-216040 B [32 36| 101 75|39 |15 | 15 15 22| 40 M16x85 166,6 37,9
04372-216050 B |32 36| 101 75|39 | 15| 15 15 22 | 50 M16x85 147 30,4
04372-216060 B [32 36| 101 75|39 |15 | 15 15 22| 60 M16x85 127,4 25,2

© norelem www.norelem.com



